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AS LEVEL ECONOMICS UNIT 2

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Q.1 (d) Using a welfare loss diagram and with reference to the data, explain how the 
consumption of plastic bags can lead to market failure. [8]


Band 
AO1 AO1 AO2 AO3 


1 mark 2 marks 2 marks 3 marks 


 


Is the concept of 
market failure 
understood? 


Is the diagram 
drawn correctly?  


Is the answer in 
the context of 
plastic bags? 


Does the answer 
use economic 
theory well to 
explain why 


negative 
externalities leads 
to market failure? 


2 


 2 marks 
 


Correct diagram 


2 marks 
 
Good use of the 
data 


3 marks 
 
Good analysis 
which uses 
economic theory 
well to explain why 
negative 
externalities leads 
to market failure 
  


1 


1 mark 
 


Correct 
understanding 


1 mark 
 


Partially correct 
diagram 


1 mark 
 
Limited use of the 
data 


1-2 marks 
 


Limited analysis 
which uses 
economic theory to 
a limited extent to 
explain why 
negative 
externalities leads 
to market failure  


0 


0 marks 
 
No understanding 


0 marks 
 


No diagram 
 
Incorrect diagram 
(see notes below) 


0 marks 
 


No application 
 
 


0 marks 
 
No analysis 
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Indicative content: 
 
AO1 (Understanding) 
 
Market failure is a misallocation of resources in a market.  Or similar. 
 
AO1 (Diagram) 
 


 
 
A negative externality in production diagram should only receive 1 mark. 
 
Look out for: 
Mis-labelling of MPB and MSB 
Incorrect welfare loss triangle 
Labelling of axis 
 
AO2 
Almost any use of data is permissible here in order to exemplify the idea of negative 
externalities 
 
AO3 
Negative externalities should be defined such as “a negative spill-over effect of a private 
transaction on the third party”.  Negative externalities are subtracted from the private 
marginal benefits of consuming producing plastic bags and, as a result, marginal social 
benefits are lower than marginal private benefits.  Answer may distinguish between MPB 
and MSB and that MSB equals MPB-EC. 
 
Answer must link back to the idea of a misallocation of resources or inefficient allocation of 
resources i.e. that due to the externalities, the free market allocation of resources is greater 
than the socially optimum level and community surplus is not maximised. 


Quantity of plastic bags 
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Sticky Note

The diagram shows negative externalities in production rather than consumption, and has a (minor) error in the labelling of the y-axis as ‘price’ rather ‘costs/benefits’.
There is very little economics here.  The link to the data is good and the candidate references the problems of plastic bags well (“littering” and “taking 1000 to degrade”).  And the candidate correctly identifies this as being a problem of negative externalities.  But there is no explanation as to what negative externalities mean, not any attempt to link back to the diagram and explain it.
The diagram is worth 1/2.
The AO1 for market failure ‘knowledge’ (inc. identification of negative externalities) is 1/1.
The application is 2/2.
The AO3 scores 0/3
Total: 4/8
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Sticky Note

Good diagram.  There is only one minor error in the labelling of the y-axis as ‘price’ rather ‘costs/benefits’. 2/2
There is a good definition of market failure and good economic theory taking in concepts such as third party, private benefits outweighing social benefits and welfare loss being created.  
The application is not great.  There is a throwaway remark about 1500 bags being used per year, which is not developed, and then there is a basic (but credit-worthy) link to the quote of “an iconic symbol of waste”
The AO1 for market failure ‘knowledge’ is 1/1.
The application is 1/2.
The AO3 scores 3/3
Total: 7/8
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Sticky Note

The curves on the diagram are incorrectly labelled, which is a shame because this is otherwise an excellent diagram.  However, this does constitute 2 major errors and the diagram scores 0/2.
There is a good definition of market failure and the analysis is also good.  There is good use of concepts like MSC/MPC, third party, negative externality and welfare loss.  Although the analysis gets blurred into AO2 application at the end, there is enough to award top band AO3 here.
AO2 is excellent.  There is a link directly to the data but the candidate also pursues his/her own examples – in this case, the idea that pollution has a detrimental impact on the environment and ultimately on labour force producutivity too.
The AO1 for market failure ‘knowledge’ is 1/1.
AO3 – 3/3  
AO2 - 2/2
Total: 6/8
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As of 5 October 2015, the law now requires shops in England to 
charge 5p for plastic bags. This was an attempt by the Government 
to reduce the use of plastic bags and the litter and environmental 
damage they can cause.


The largely automated processes of industrial manufacturing these 
days mean that the price elasticity of supply for plastic bags is almost 
perfectly elastic and the cost of producing a single unit is negligible. 
As a result, supermarkets used to be content to give them away for 
free with customers’ purchases which resulted in over-use. 


Wales had already introduced the charge on plastic bags four years earlier in 2011. According 
to data from the Welsh Government:


	 •	 Carrier bag use between 2011 and 2014 declined by 71%.
	 •	 Money raised from the charge has been estimated at between £17m and 
		  £22m to be used for good causes.


Similar results were achieved in Ireland in 
2002 when a €0.15 (11p) charge on bags 
led to a 90% reduction in consumption. 
One journalist wrote: “it’s a great example 
of people responding to incentives, even 
if the incentives are tiny. Prices have only 
increased a relatively small amount – from 
nothing to 5p – and yet the decrease in 
demand has been incredible”.


The main problem is the amount of litter that 
plastic bags can cause. It is reported that 
the average American family takes home 
almost 1 500 plastic shopping bags a year 
with very little obvious difference between 
income deciles. And yet these plastic bags 
can take 1 000 years to degrade. The Department for Environment, Food and Rural Affairs 
(Defra) describes the bags as “an iconic symbol of waste”. They also cause ecological harm. 
As a study used by the Government explains, “when seabirds, sea mammals or fish ingest 
plastic particles, blocking of the gut is likely to harm or even kill”.


Consumer groups have also complained that the flat 5p charge will hit the poorest hardest as 
a percentage of their weekly income. Whilst others have criticised the environmental claims 
and have argued that plastic bags are simply not a very large component of total rubbish. It 
is estimated that plastic bags account for less than 1% of all items of litter.


In terms of their general environmental impact, plastic bags might actually be the best option 
for the environment. Studies have shown that paper bags, which are not subject to the 
English bag charge, create greater landfill waste than plastic bags. Likewise, reusable cotton 
bags – often known as ‘Bags for Life’ – would need to be used 131 times compared with a 
regular plastic bag before they are better in terms of limiting global warming. Such studies 
have concluded that the use of tradeable pollution permits is the single most effective policy 
available to governments trying to reduce environmental damage.
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Plastic bag usage in Wales


Answer all the questions.


1.	 PLASTIC BAGS: TO CHARGE OR NOT TO CHARGE?







Turn over.
2


5
2


0
U


2
0


1
0


3
(2520U20-1)


3


	 (a)	 Using mathematical examples, explain why “the flat 5p charge will hit the poorest hardest 
as a percentage of their weekly income.” (lines 34-35)	 [4]


	 (b)	 With reference to lines 5-7, draw a supply curve for the production of plastic bags and 
explain the curve that you have drawn. 	 [4]


	 (c)	 Consider whether the price elasticity of demand for plastic bags is likely to be elastic or 
inelastic. 	 [6]


	 (d)	 Using a welfare loss diagram and with reference to the data, explain how the consumption 
of plastic bags can lead to market failure. 	 [8]


	 (e)	 Using the data, discuss the extent to which the 5p charge on plastic bags should be 
considered an example of government failure.	 [10]


	 (f)	 To what extent are tradeable pollution permits effective at reducing the environmental 
damage within a country?	 [8]
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1e. The 5p flat charge for plastic bags was able to reduce plastic bag 
consumption by 71% in Wales over the course of 3 years from 2011 to 
2014.  The plastic bags are a cause for ecological harm when ingested 
by animals harming or killing them, however the plastic bags only 
account for 1% of all items of litter.  The charge has helped raise 
between £17m and £22m which could be re-invested into more 
ecological and environmental programs by the government.  However, 
the charge has failed to curb paper bag usage which creates greater 
landfill waste than plastic bags and also harms the poorest earners the 
hardest as it takes up a larger percentage of their income.  The 
imposition of the charge will likely increase usage of paper bags as well 
as further increasing their wastage.  For such a simple legislation the 
change has achieved a lot, reducing plastic bag consumption and 
achieving its aim and could achieve more if expanded to paper bags as 
well further reducing pollution. 
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Q.1(e) Using the data, discuss the extent to which the 5p charge on plastic bags 
should be considered an example of government failure. [10]


Band 
AO1 AO2 AO3 AO4 


2 marks 2 marks 2 marks 4 marks 


 


Does the 
answer show 


good 
understanding 
of the concept 
of government 


failure? 


Has the candidate 
used qualitative 


and/or quantitative 
evidence to justify 


his/her points? 


Does the answer 
explain fully why 
the 5p should be 


considered a 
government 


failure? 


Does the answer 
evaluative the points 
already made and 
evaluate them with 
economic theory? 


2 


2 marks 
 


Good 
understanding 


2 marks 
 


Clear reference to 
the data 
 
The points are 
heavily 
contextualised within 
the framework of 
plastic bags 


2 marks 
 


A good analysis 
that explains why 
the 5p charge 
should be 
considered a 
government 
failure 


3-4 marks 
 
A good evaluation 
that is fully developed 
and  makes a strong 
economic explanation 
as to why it should 
NOT be considered 
government failure 


1 


1 mark 
 


Limited 
understanding 


1 mark 
 


Limited use of the 
data 
 
The data is only 
used specifically to 
build an argument 
on one occasion 


1 mark 
 


Limited analysis 


1-2 marks 
 


Limited evaluation  


0 


0 marks 
 
No 
understanding 
demonstrated 


0 mark 
 


No application 
 


0 marks 
 
No analysis 


0 marks 
 
No evaluation 


 
Indicative content 
 
AO1 (Understanding) 
 
Government failure is the idea that Governments may intervene in a market in order to solve 
a market failure but end up making the market failure worse/fail to improve the situation/ 
create a market failure somewhere else. 
 
AO2 (Application) 
 
Almost any use of data is permissible here in order to exemplify the idea of government 
failure. 
 
  







© WJEC CBAC Ltd. 2


AO3 (Analysis) 
 
The Government has intervened to try and reduce the number of plastic bags but, in terms of 
their general environmental impact, plastic bags might actually be the best option for the 
environment.  Paper bags and cotton bags have their own downsides too (examples given in 
the text) and actually we risk more negative externalities from promoting those materials 
than we would have received from the use of plastic bags. 
 
Plastic bags actually make up very little of the litter problem.  The plastic 5p charge may be a 
PR stunt in the sense that it will gain a lot of publicity but, in actuality, it will make almost no 
difference whatsoever to the level of litter around the country and in the seas. 
 
Regressive tax -  
 
AO4 (Evaluation) 
 
That said, a tax on plastic bags reduces their consumption and, as shown on a negative 
externalities diagram, we need to reduce the use of plastic bags back down to the socially 
optimum level.  Looking at the statistics, the use of plastic bags has seemed to work very 
well indeed (lots of decreases in % being used) and therefore it has worked at solving the 
market failure and it is not a government failure. 
 
The money raised from the sale of plastic bags is going towards good causes – no doubt 
trying to resolve some of the problems that may arise from plastic bag consumption.  It may 
be assumed that the Government collects the tax revenue. 
 
It’s probably too early to tell.  The charge was introduced recently and we need time to really 
understand whether it is has had a significant impact on the environment or not. 












5







7



Sticky Note

The candidate’s first definition is not great and doesn’t, as yet, score much credit.  The tax diagram also misses the point about trying to reduce plastic bag consumption (thus, correcting market failure) and the analysis that it creates a welfare loss is wrong.
On the 2nd page, the answer improves.  The first 3 sentences make 3 (unlinked) assertions that policy is (1) regressive, (2) targeting the wrong type of litter and (3) bags for life would be better.  This is all correct but there is very little analysis behind the assertion.  It is, effectively, just a list of bullet points and no real economic analysis.  The candidate has demonstrated AO2 ability but there is precious little AO3.  The points can be used as implied understanding of government failure.  The final few sentences are not credit-worthy.  There is no evaluation present at all.
AO1 – 2/2 (implied understanding) and AO3 1/2
AO2 – 2/2 Candidates found good examples in the text to discuss the knowledge shown in AO1.
No AO4 marks scored.
Total: 5/10
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Sticky Note

Good understanding of government failure demonstrated.
There are some decent points made in favour of the argument that the policy should be considered government favour (namely, that it is regressive and that by imposing it regionally, it may have had an asymmetric negative impact).  However, the analysis isn’t good enough for top band AO3.
The evaluation section, however, is much better.  The candidate uses economic theory well to talk about the correction of market failure and uses the data well twice (amount of revenue generated and number of plastic bags reduced) in justifying the assertion that it is not an example of government failure.  This is top band AO4 and there is enough evidence at this stage for top band AO2 as well.
The final paragraph actually ends up being a missed opportunity.  The candidate identifies another AO3 point (littering is only 1% of total output) but doesn’t link it back to the original analysis section.  Therefore, the AO3 does not achieve full marks.
AO1 – 2/2
AO2 -2/2
AO3 – 1/2
AO4 – 4/4
Total: 9/10















1e. The 5p flat charge for plastic bags was able to reduce plastic bag 
consumption by 71% in Wales over the course of 3 years from 2011 to 
2014.  The plastic bags are a cause for ecological harm when ingested 
by animals harming or killing them, however the plastic bags only 
account for 1% of all items of litter.  The charge has helped raise 
between £17m and £22m which could be re-invested into more 
ecological and environmental programs by the government.  However, 
the charge has failed to curb paper bag usage which creates greater 
landfill waste than plastic bags and also harms the poorest earners the 
hardest as it takes up a larger percentage of their income.  The 
imposition of the charge will likely increase usage of paper bags as well 
as further increasing their wastage.  For such a simple legislation the 
change has achieved a lot, reducing plastic bag consumption and 
achieving its aim and could achieve more if expanded to paper bags as 
well further reducing pollution. 
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Sticky Note

There is no explicit definition of government failure offered but the answer is such that an implied understanding is obvious.  
There are good points made in favour of the argument that this is a government failure.  The candidate refers to the quantitative data and the amount of money raised.  And s/he also makes good use of economic theory that increased price will reduce the quantity demanded.  There is also a nice conclusion that “the [simple] change has achieved a lot and could achieve more”.  Therefore, the AO1/AO3 sections score full marks.
The application and use of data also score full marks.
The evaluation, however, is slightly lacking.  There is a throwaway reference to the 1% of all litter quote (not developed!) and the regressive element but this not enough developed enough for top band AO4. AO4 – 2/4
Total: 8/10
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As of 5 October 2015, the law now requires shops in England to 
charge 5p for plastic bags. This was an attempt by the Government 
to reduce the use of plastic bags and the litter and environmental 
damage they can cause.


The largely automated processes of industrial manufacturing these 
days mean that the price elasticity of supply for plastic bags is almost 
perfectly elastic and the cost of producing a single unit is negligible. 
As a result, supermarkets used to be content to give them away for 
free with customers’ purchases which resulted in over-use. 


Wales had already introduced the charge on plastic bags four years earlier in 2011. According 
to data from the Welsh Government:


	 •	 Carrier bag use between 2011 and 2014 declined by 71%.
	 •	 Money raised from the charge has been estimated at between £17m and 
		  £22m to be used for good causes.


Similar results were achieved in Ireland in 
2002 when a €0.15 (11p) charge on bags 
led to a 90% reduction in consumption. 
One journalist wrote: “it’s a great example 
of people responding to incentives, even 
if the incentives are tiny. Prices have only 
increased a relatively small amount – from 
nothing to 5p – and yet the decrease in 
demand has been incredible”.


The main problem is the amount of litter that 
plastic bags can cause. It is reported that 
the average American family takes home 
almost 1 500 plastic shopping bags a year 
with very little obvious difference between 
income deciles. And yet these plastic bags 
can take 1 000 years to degrade. The Department for Environment, Food and Rural Affairs 
(Defra) describes the bags as “an iconic symbol of waste”. They also cause ecological harm. 
As a study used by the Government explains, “when seabirds, sea mammals or fish ingest 
plastic particles, blocking of the gut is likely to harm or even kill”.


Consumer groups have also complained that the flat 5p charge will hit the poorest hardest as 
a percentage of their weekly income. Whilst others have criticised the environmental claims 
and have argued that plastic bags are simply not a very large component of total rubbish. It 
is estimated that plastic bags account for less than 1% of all items of litter.


In terms of their general environmental impact, plastic bags might actually be the best option 
for the environment. Studies have shown that paper bags, which are not subject to the 
English bag charge, create greater landfill waste than plastic bags. Likewise, reusable cotton 
bags – often known as ‘Bags for Life’ – would need to be used 131 times compared with a 
regular plastic bag before they are better in terms of limiting global warming. Such studies 
have concluded that the use of tradeable pollution permits is the single most effective policy 
available to governments trying to reduce environmental damage.
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Plastic bag usage in Wales


Answer all the questions.


1.	 PLASTIC BAGS: TO CHARGE OR NOT TO CHARGE?
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	 (a)	 Using mathematical examples, explain why “the flat 5p charge will hit the poorest hardest 
as a percentage of their weekly income.” (lines 34-35)	 [4]


	 (b)	 With reference to lines 5-7, draw a supply curve for the production of plastic bags and 
explain the curve that you have drawn. 	 [4]


	 (c)	 Consider whether the price elasticity of demand for plastic bags is likely to be elastic or 
inelastic. 	 [6]


	 (d)	 Using a welfare loss diagram and with reference to the data, explain how the consumption 
of plastic bags can lead to market failure. 	 [8]


	 (e)	 Using the data, discuss the extent to which the 5p charge on plastic bags should be 
considered an example of government failure.	 [10]


	 (f)	 To what extent are tradeable pollution permits effective at reducing the environmental 
damage within a country?	 [8]
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2e - By keeping the interest rates high hot money will continue to flow 
in to Brazil increasing the value of the Real.  However this increase in 
the value of  the Real would likely hurt exports, as exports made up for 
13.1% of Brazils total GDP in 2015 this may be damaging to the export 
market, especially with their main trading partners, China and the USA 
experiencing low growth. 


This would worsen the balance of payments with the value of foreign 
imports also  implying this.  The extent of the effect on the B of P and the 
export market depends upon  foreign PED for Brazilian exports, PED for 
imports, and the size of the increase in the value of the Real. 
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Q.2 (e) Discuss whether Mr Alexandre Tombini should “keep interest rates high”.  (line 40) [12]


Band 
AO1 AO2 AO3 AO4 


2 marks 2 marks 2 marks 6 marks 


 


Does the answer 
show a good 


understanding of 
interest rates 


 Has the candidate 
applied the data 


well? 


Does the answer explain 
fully why the Governor 


should increase interest 
rates/keep interest rates 


high? 


Does the answer 
evaluate the points 
already made and 


justify those 
evaluative with 


economic theory? 


3 


   5-6 marks 
 
An excellent  
evaluation  
 
 
Makes an effective 
judgement to answer 
the question overall. 


2 


2 marks 
 


Good 
understanding of  
interest rates 


2 marks 
 


Clear reference to 
the data. 
 
The points are 
heavily 
contextualised within 
the framework of the 
Brazilian data above 
and numerous 
evidence is used to 
support the answer. 


2 marks 
 


A good analysis that 
makes a strong 
economic explanation as 
to why the Governor 
should choose to keep 
rates high 
 


3-4 marks 
 
A good evaluation  


1 


1 mark 
 


Limited 
understanding 


1 mark 
 


Limited use of the 
data 
 
 


1 mark 
 


Limited analysis  


1-2 marks 
 


Limited evaluation  


0 
0 marks 


 
No understanding  


0 marks 
 


No data used. 


0 marks 
 
No analysis offered.


0 marks 
 
No evaluation offered. 
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Indicative content: 
 
AO3 (Analysis) 
 
 
Increasing Base Rate will strengthen the Real as more foreigners will want to save their 
money in Brazilian currency.  This has the effect of making Brazilian imports cheaper in 
value – which will have a deflationary effect on the economy. 
 
(EVAL:  the flip-side to this is, of course, that exports are more expensive and Brazil is 
already struggling with its export sector.  This is a risk that the Central Bank cannot afford to 
take). 
 
Brazil should NOT decrease the Base Rate.  Decreasing Base Rate will only serve to 
increase demand-side pressure on the economy.  Brazil is already suffering from 7% 
inflation and the last thing it needs is more inflationary pressure  
 
(EVAL:  That said, most of that inflationary pressure is coming from cost-push factors.  
Therefore, arguably, there is capacity in the economy which can satisfy an increase in 
demand without any additional inflationary pressure). 
 
 
 
AO4 (Evaluation) 
 
Brazil is facing a recession.  By lowering base rate, the incentive to spend is greater 
because the reward for saving is lower.  Since we know that C is 50% of GDP, we should 
expect to see a significant change in AD and large economic growth. 
 
Decreasing Base Rate will also reduce the cost of loans.  We know that Brazil has trouble 
attracting investment – so lower interest rates should, in theory, incentivize investors to start 
up a new business and build new factories despite the issues with regulation. 
 
Decreasing base rates will ease the debt burden on households who, at the moment, are 
drowning in debt worries.  We know that debt repayments eat up 21% of the average 
Brazilian’s income – so to ease that would certainly lead to an increase in C and an increase 
in AD. 
 
Other: 
 
Another option would be to do nothing.  Given that there are pitfalls everywhere you look, Mr 
Tombini might decide that it’s better to sit this one out for now and observe the economy for 
a bit longer before nailing his colours to the mast – so to speak. 
 
AO2 
Almost any use of data is permissible here so long as the points in AO3 and AO4 are heavily 
contextualised within the framework of the Brazilian data above and numerous evidence is 
used to support the answer. 
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Sticky Note

In many ways this is a good answer.  The candidate clearly understands a lot about interest rates and their effects on the economy.  For example, increasing i/r decreases savings, it deters investment and it leads to hot money inflows.
The investment section is the best part because it analyses that effect in terms of Brazil.  Reducing investment in Brazil is undesirable since it is already low and problematic.  By contrast, the section on AD falling is less good because it takes the approach of “it depends on the initial equilibrium”.  It does but there are enough hooks in the data to show that Brazil is facing the very real possibility of negative growth next year and a decrease in exports.  Therefore, encouraging savings and decreasing AD (from that point of view) would not be desirable either.  
The section on trade is OK but it fails to take into account the price of imports falling and also there is no real judgement at the end about whether decreasing exports is a good thing or not.
Overall, whilst this is a good answer it doesn’t hit the top band in the AO3 or AO4 sections.
AO1 – 2/2 and AO3 – 1/2
AO2 – 2/2
AO4 – 2/6
Total:  7/12













2e - By keeping the interest rates high hot money will continue to flow 
in to Brazil increasing the value of the Real.  However this increase in 
the value of  the Real would likely hurt exports, as exports made up for 
13.1% of Brazils total GDP in 2015 this may be damaging to the export 
market, especially with their main trading partners, China and the USA 
experiencing low growth. 


This would worsen the balance of payments with the value of foreign 
imports also  implying this.  The extent of the effect on the B of P and the 
export market depends upon  foreign PED for Brazilian exports, PED for 
imports, and the size of the increase in the value of the Real. 
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Sticky Note

An answer this short for a 12-mark question is always likely to score poorly.  In this example, the candidate only really scratches the surface of the issue.  S/he decides to focus exclusively on the issue of exchange rates.  The analysis is correct – ignoring a mis-use of the term ‘balance of payments’ – but there is only one throwaway evaluative point (“it depends on PED”) which, again, is one for a narrow part of the overall issue.
AO1 – 1/2 (only its effect on ER)
AO2 – 1/2 (very limited)
AO3 – 1/2
AO4 – 0/6 Not enough to constitute anything meaningful.
Total: 3/12
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Sticky Note

This answer focusses on 3 aspects of the transmission mechanism (consumption, investment, exchange rates) and deals with each in great detail.  There is good use of economic theory throughout and certainly enough evidence to give top band AO1/AO3.
The evaluation is poor though.  Each section is caveated with a throwaway remark: “it depends on business confidence” and “it depends on the interest rates in other countries”.  As a result, the candidates misses a real opportunity to score high marks.  The AO4 is limited to just 2/6 for these eval points (and one attempt at development which links to unemployment)
The AO2, in addition, is very weak.  The one reference to Brazil’s poor state of government finances is incorrectly identified as the current account rather than the budget balance.  Therefore, AO2 – 0/2
AO1 – 2/2 and AO3 – 2/2
AO2 – 0/2
AO4 – 2/6
Total: 6/12
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Background


Between 2002 and 2008 Brazil grew quickly, expanding at 4% a year. Domestic consumption 
and the boom in exports of iron, oil and sugar were the main drivers of growth. Millions of 
people were lifted out of poverty and income inequality was greatly reduced.


% of population in poverty
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But by 2015 Brazil was showing signs of economic trouble as annual growth slowed and 
many commentators began to predict a recession in 2016.


The outlook for 2016:


Consumption


The prospects for private consumption, which accounted for around 50% of GDP growth over 
the past ten years, are unfavourable. With annual inflation above 7%, shoppers’ purchasing 
power is being eroded. Inflation has been caused by energy prices going up by 30% and the 
Brazilian currency (the real) losing 10% of its value against the dollar leading to rising import 
prices.


Investment


The World Bank attempts to measure how ‘business friendly’ a country is and in its recent 
2015 report Brazil ranked 116 out of 189 countries surveyed. Masses of regulations and 
complicated tax laws mean that companies waste hundreds of hours filling out forms and 
dealing with bureaucratic processes. In addition, strong employment legislation makes it 
difficult for bosses to dismiss unproductive workers. Companies looking for a base in South 
America seem to prefer to invest in Chile which is more business-friendly.


There has also been a lack of infrastructure spending down the decades. Brazil ranks a lowly 
107th in the world for infrastructure quality; the poor quality of roads, railways and telecoms 
all acting as deterrents to entrepreneurs.


Exports


In the past, exports have normally made a major contribution to Brazil’s economic success.  
In 2015, the total value of Brazilian exports was $230.6bn which made up 13.1% of the 
country’s total GDP. China and the USA are Brazil’s largest trading partners, buying two-
thirds of all Brazilian exports. However, even though the real has depreciated, slow growth in 
China and the USA has meant that exports are underperforming.
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2.	 HAS BRAZIL’S BUBBLE BURST?
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Government spending and fiscal policy


Brazil’s public sector debt is the highest of the emerging economies (at 66% of GDP) and it 
spent 311.4 billion reals (6% of GDP) on debt payments alone in 2014. It seems that its fiscal 
policy options are limited.


Brazil’s finance minister, Joaquim Levy, has tried to balance the budget as much as possible. 
For example, he has increased taxes on petrol and he is also lowering the generous state 
pension but in doing so he runs the risk of undoing all of the good work that had been done 
in tackling poverty.


Monetary policy


The Governor of the Central Bank of Brazil, Alexandre Tombini, has his own choices to 
make too. Firstly, he could choose to keep interest rates high despite the weak 
economy. This would support the real and help to reduce inflation but both households 
and firms will be hurt as a result. Alternatively Mr Tombini could cut interest rates – despite 
rising inflation – to encourage growth


.
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	 (e)	 Discuss whether Alexandre Tombini should “keep interest rates high”. (line 40)	 [12] 


END OF PAPER











